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5.6 ha = 56000 m? < 550000 cm?
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1t = 1000kg = 1000000 g
2.3t = 2300 kg = 2300000 g
— 2300000 + 2300 = 2302300
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® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a

~&B

1km? = 100 ha = 10000 a = 1000000 m? ©] 22
D 24 a = 2400 m?

@ 1300a = 13 ha

@ 1.6km? = 16000 a

®47Tm? =047a
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@D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40m?

@ 5km?, 500000 m?

@780000 m?, 78ha
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@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a
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la = 100 m?, 72a = 7200 m?

7200 m? + 90 m?
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@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg
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2.8t = 2800 kg
gk Azte] £A] 1 2800 + 200 = 14(kg)
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890 + 759 + 673 + 594 = 2916( kg)
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6.5t = 6500 kg
gk Azt £A1 1 6500 + 250 = 26( kg)
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160 x 90 — 90 x 40 = 2 — (50 + 70) X 30 = 2
= 14400 — 1800 — 1800 = 10800( m?) — 108a
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= 135000 — 18648 = 116352( m?)
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(460 + 640) x 400 + 2 = 1100 x 400 + 2 = 220000m? =
220000 m? = 2200a
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600 x 500 + 2 = 150000( m2) = 0.15( km?)
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(PSR Hol) =(H Atz 9] Hol)+2
=1.8x1.2+2=1.08(km?)

= &= ha 2 IA|H,

1.08 km? = (1.08 x 100) ha = 108 ha
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A (kg) | 860 | 340 | 720 | 280
» E ot
> = 22¢

860 + 340 + 720 + 280 = 2200( kg)

1000kg = 1t
2200kg = 2.2t
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of 2012 4 = 59 FA 1 1.96t = 1960 kg
QHRES &= Q= B9 77 & 24.3 + 15.7 = 40( ke)
£ 715 AA9+= ol A= ARE 1960 + 40 = 49(&)




25. 720yl 3.2ha O EolA & 5.6t & AASIAL, THUE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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17.6 —17.5 = 0.1(kg) & @5t




